Kuta Software - Infinite Pre-Algebra
Markup, Discount, and Tax

Find the selling price of each item.

1y Cost of a sled;: $99.50
Markup: 95%
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3) Cost of an oil change: $18.00
Markup: 70%
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5) Cost of an MP3 player: $129.50
Markup, 60%
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7) Cost of a pen: $0.95 e
Markup: 60%
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9) Original price of concert tlckels Ss]()() 00
_Discount: 21%
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11) Original price of a telescope: $99.99
Discount; 13%
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2) Cost of a comic book: $3.95
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4) Costof a’CD: $14.50
Markup 30%
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6) Cost of an oil change: $21.95
Markup: 65%
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8) Cost of a computer: $1,850.00 s S

Markup: 75%
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10) Original price of a book: $18.50
Discount: 45%
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12) Original price of a CD: $22.99

Discounl: 5%
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13) Original price ol a sled: $99.50
Discount: 50%
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15) Original price of a CD: $17.00
Discount: 50%

~ = .H.I‘{,\_‘l l.:_ .
e=3.5 (3250 )

hS
\

17) Original price of a book: $49.95
Tax: 3%

19) Original price of an MP3 player: $99.50
Tax: 4%
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21) Original price of a pen: $1.50
Tax: 4%
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23) Original price of an SUV: $42.000.00
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14) Original price of a camera: $554.99
Discount: 48%

16) Original price of a CD: $22.95
Discount: 10%

18) Original price of a book: $90.50
‘Tax: 4%
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20) Original price of a microphone: $129.99
Tax: 1%
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22) Original price of shorts: $19.99
Tax: 2%
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24y Original price of a goldfish: $1.50
Tax: 5%
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